1 {2y 18 {e{lih 2h {12}
2 1<y 19 2=0

3 {L3jcfl2 20 2elo}

4 {5}z {,2,3,4) 21 o={0}

5 ocfL23) 22 Aaj={a.b.c}

6 {46}c{457} 23 {L.2.3}={,231

7 {L2jeld) 24  {xx-3=0{>{3}

8 Biciz46 25 Oco

9 {L2.3jc{23.45) 26 9<0

10 {2} {234 27 Qcd

11 1234« {.2.3) 28 Jed

12 {2} 20 Oel{@)1.2.3.45)
13 {Blle {23 30 o2c{@2.123.45
14 {Blicft23) 31 {2fefl23,45)

15 {{L2f<{{. {2)) 32 {2jcfl234.5)
16 {2} L2} 33 oclo)

17 {L2je {20412 34 ociol




35 {L2.30c{,2.3 {23} 52 {apx{b.ajciajx{p, a}
36 {123} {1,2,3,{,2,3} 53  (a,b)=1{a}x {p}

37 {L2fefl23.{L2} 54 (a,b)elafx{b}

38 {1.2}c{l,2,3,{1.2,3]) 55 AuD=0

39 {o.loficlo.lo}{o. o)) 56 AND=U

40 (o.loficlo.lo) .o} 57 o°-U

M lab.ci=lcba) 58 AuA =U

42  {a.{p,cl={{c, b} a} 59 ANA=Q

43 {a.{b.cfi={la. 0} 60 A-4=0

44 m(2,12})-=1 61 AuU(4nB)=4

45 m({l@, iof)=1 62 4-BcB

46 m({1,2,3,{,2,3}})=6 63 (4-B)n(B-4)=0
47  m(D.1D}.a.b.{a. b} la. b la.bl})=6 64  U-4A=A°

48 (@0l {o.{o})=3 65 Uvd=4

49  (a,b)ela,bix{a, b} 66 Und=4

50 (b.a)ela,bix b, af 67 An(BUC)=(4nB)uC
51  {(a a) (b, a)ciafx{b, af 68 (4nB) =A NB°




